BEW[48 ~3A]
H185EE A" # & (ke) H195 E A" &4 & (ke) A RS HEEE (ke) Tl R A1 R EE (%)
T (A) (B) (B)-(A)=(C) (B)/(A) x100-100=(D)
pm |48 847,738 894,914 47,176 5.56
= | 58 1,018,828 998,017 —20,811 (2.04)
; 6R8 977,624 939,192 -38,432 (3.93)
= [ 1B 1,024,762 1,052,806 28,044 2.74
8H 1,107,286 1,092,159 —15,127 (1.37)
'4“ 9K 954,922 910,708 —44,214 (4.63)
108 1,002,588 970,203 -32,385 (3.23)
’f’ 118 970,496 968,961 -1,535 (0.16)
5 | 128 1,067,600 998,203 -69,397 (6.50)
= 18 952,520 928,162 -24,358 (2.56)
2R 787,986 764,186 -23,800 (3.02)
~ [ 3H 921,732 895,226 -26,506 (2.88)
&5 11,634,082 11,412,737 —221,345 (1.90)
i 969,507 951,061 -18,445 -
BEWM[48 ~3A]
HISEEH KT #H & (ke) H19EERAC# & (k) HMAZHEBE (ke) A HFE (%)
10 (A) (B) (B)-(A)=(C) (B)/(A) X 100-100=(D)
% [ 4B 226,534 114,121 112,413 (49.62)
2 | 58 92,614 157,433 64,819 69.99
; 6R 283,968 283,053 -915 (0.32)
= | 78 96,998 6,989 -90,009 (92.80)
f 8H 172,214 131,383 -40,831 (23.71)
4 9R 212,450 234,127 21,677 10.20
g [ 108 209,861 100,750 ~109,111 (51.99)
¢ [118 180,908 50,393 -130,515 (72.14)
5 | 128 344,944 209,822 —135,122 (39.17)
= 18 0 113,456 113,456 #DIV/0!
Z 2B 266,857 66,424 -200,433 (75.11)
3R 172,341 90,100 -82,241 (47.72)
&5 2,259,689 1,558,050 —701,639 (31.05)
T 188,307 129,838 —58,470 -
= BEWRM[48 ~3A]
5 HISEESYIAR—/I—& (ke) [H19FEESYIAR—/RA—8B (kg) | SvHRR—/I—BEE (ke) SYHRAR—/R—EHE (%)
5 (A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
4R 46,351 54,338 7,987 17.23
i 58 40,704 45,315 4,611 11.33
, 6R8 37,252 43,539 6,287 16.88
;5 |18 25,908 30,646 4,738 18.29
, 8H 35,576 35,338 -238 (0.67)
= | 98 27,478 33,265 5,787 21.06
f 108 31,958 36,490 4,532 14.18
4 [11A 21,772 31,683 3,911 14.08
g [ 128 34,847 40,687 5,840 16.76
S 18 37,158 44,742 7,584 20.41
2R 27,226 28,730 1,504 5.52
g 3R 22,291 42,878 20,587 92.36
TE 394,521 467,651 73,130 18.54
i 32,877 38,971 6,094 -
BEW[48 ~3H]
HIS(EEZ DTS E (ke) HI95EZ DTS E (ke) ZFDMTSEFE (ke) Z DTS HiFE (%)
z (A) (B) (B)-(A)=(C) (B)/(A) x100-100=(D)
@ | 48 20,694 26,622 5,928 28.65
fh | 58 23,979 28,233 4,254 17.74
7 | 6H 20,817 25,238 4,421 21.24
> | 1A 18,413 23,153 4,740 25.74
2 | 88 23,596 27,410 3814 16.16
—~ [ 98 19,777 24,565 4,788 24.21
4 [10R 22,066 26,514 4,448 20.16
A [ 118 19,544 23,368 3,824 19.57
S [12R 20,589 24,703 4114 19.98
3 18 22,756 28,124 5,368 23.59
A 2R 18,730 21,660 2,930 15.64
— | 3R 14,270 20,882 6,612 46.33
&5 245,231 300,472 55,241 22.53
i 20,436 25,039 4,603 -
BEW[48 ~3A]
HISEEERYE (ke) HI9EEERDE (k) EREYHEEE (ke) ERYEEE (%)
. (A) (B) (B)-(A)=(C) (B)/(A) x100-100=(D)
& | 4H 263,546 290,197 26,651 10.11
B \ , -36,589 35
® | 58 391,201 354,612 (9.35)
W | 6B 242,594 244,404 1,810 0.75
2 | 718 223,091 202,730 -20,361 (9.13)
—~ | 8H 286,514 286,614 100 0.03
4 9K 227,490 244,493 17,003 7.47
A [ 108 350,624 362,488 11,864 3.38
S [11A8 351,511 305,281 -46,230 (13.15)
3 [128 296,526 296,803 277 0.09
A 18 235,681 230,940 -4.741 (2.01)
— | 2R 217,571 172,532 -45,039 (20.70)
3R 226,788 266,149 39,361 17.36
&% 3,313,137 3,257,243 —55,894 (1.69)
i 276,095 271,437 —4,658 -




